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22 3 31
21 10 1 % = &l
300 100 1 2,000
o Y 2 10 200 1,800
300 100 200 3 10 50 80 3,000
o / 4 50 100 60 4,000
200 x 10 9.000 5 100 500 10 9,000
6 500 1000 8 1
22 9 30 71 1000 5000 4 1 4,000
22 4 1 9/30 8 5000 2 2 4000
500 150 9 19000 | 2 5000
10 1 8,000 2 7000
O
300 500 100 150 550 L 1 L 7,000 3
12 1 6,000 3 4,000
° e R . YT 13 10 1 500 | 3 9000
! 14 10 20 1 4000 4 9,000
150 20 30 1 3,000 6 9,000
16 30 1 2000 9 9,000
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21 10 1
21 10 1
21 10 1
21 10 1
21 10 1
22 3 31
22 3 31 21 10 1
21 10 1

20 4







